EARAROBREBRT —5 XN—ZXBISH—F 2024118308 (£) 5E4L1H

85>SR 2% *BF (BY) [EE] B8 BRI R
[#E<] 1 7% :5,500,000 . 23 :2,200,000 3 . 33 :1,400,000 3 . 43 :830,000H 53 :550,000
B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
~ BI85 12, - . . iR (/)
11519 ) )P RAYAY 4 2 56)._0 1(1_2)7 2-2 38.5| 83.7 2 (4_5(3 i
RIFAUAYRA NI Y N B:IAVATAH mAR Bh
. il — I\HRfE 112, = . . PEE= ()
2112 ELYDLST—L ® 2| 2% 72 AR R Rl Bl b
RiFIYYTSwT BV /TSR FrIEFTIRAT7—LA

= . 2 | ARGt 1:13.0 1-1 38.9| 81.4 | 1 ) | B GER)
EH(, Eh/Frub # 55.0 Z¥) () |BAPLI=T

R:F4ATU—rFvy b B:FUYPRIIL— J—=AHA=FV
= st 2 | EUEEME 1:13.0 3-3 38.7] 81.2 | 11 | 438 |KHFEL EH)
41815/ F213v b 55.0 ) (o) | EHE
RiARASKR=Z—9 B:70-NLTAL =k
S~ REIBHE 13, - . . HMUKERF (GE)
5 NECELESOY, 2 R 1(71?:; 10-9  [37.6]80.6 | 9 (4;0) ﬁ?yg;;
RIZVTVE/ /)T BN=-RTIY—Y EING: e
= o S /T FlFEXR 13. = . . EREE (B
6lgliel Zv Ty 4 2 i 1(91'%:; 4-4 38.5| 80.3 | 8 (4_242) Wﬁ%
RiT+—94—ILRSA4T B:ALYI—HALv =E B
v~ Llgas) 13, - . . WNE—H (/)
) OPEEEETI 2|y as | 77 |me{ms |7 | w0 HEHEM
RPIFITRAFVR BILA—T4—Y By kRF—TI
—= ) — 4 2 | R 1:13.5 8-7 38.3|77.0 | 6 30 | KRS GEH)
sl 12| A—7«73—7 55.0 L) o) | BIBH=
R:TA—=D4=ILRSA4T B:Hh—F 14N NS EERSE
~ SN, s 2 | #LES 1:13.6 4-4 39.1]76.2 | 3 482 | N\ERRER ()
ol 5| VST NILT 55.0 C5) ) | ) MERT—TIL
RR7ZVVITSwT B:FT4—5vhk et s/X
o (O v 2 | RET 1:13.6 11-10 [37.9| 76.2 | 5 | 486 |FAEEEAME ()
10{7[13| YRV ES1T 5.0 “¥) s | PL%=
RiTF—94—ILRSA4T B:URYT4—UR TPERUS
— s v s 2 | GHEER 1:14.2 9-10 38.8|70.9 | 4 510 | EBRADE (55/)
11|5/10| ZTIEIAN 4530 G 172) o |EEEZ
R:T+—D4—=LRS4A4T #8:a7/LITVR HBUS
WSy = st 2 | AEHESK 1:14.3 12-12 [38.1]70.2 | 13 | 43 |©ZERE R
120111 0vFY= 55.0 @) 4g) | DHBF
R:A7U—ve—0O— B:FtF/yavy RIS
S—_R B2 | SR 1:14.4 16-16 | 37.6| 69.5 | 12 | 440 |{EBESE ()
131 4| E>—F [B] *51.0 (3/4) wa | B ZE—KT7—L
RiARASRZ—9 &:I=ILFVFS5A4X HRat DEWS
<, = na EE— 4. - . . KEIE— (/)
14/ 7114| 737 bw A [B] 280 1(91?:;1 W80 6.4 13 (i‘?g) EEK
RINVT—I— B:P—RNISS7 FH tF
EAID 4 2 | IBHEFEXR 1:14.9 14-13 38.4| 65.0 | 14 442 | RIEXE ()
15Y 3| TVTUVT 56.0 &) ) | B ZWITF—L
R:ALYITSvIEL B:O0-TRIL— SWITF—L
—3y~ 4 2 | AEHNT 1:15.0 13-13 38.7| 64.1 | 16 472 | #BRFEL EH)
1 o RIE=22 % 5.0 a7 (2 | EPIEA
RiRk—IEIL B:I—-YyVN\—N\— TIERUS
[ BN
En'w 50.1-38.6
NOv9A L | 12.0-10.6-11.5-12.3-12.8-13.5
@ 11— —B&IEfI
13— —
20—F—
30—7— (+6,9)15(5,16)2,7-12,10,8,13-1,11(3,14) 4
43—F— (+6,9)-15(5,2,16)-(12,7)-8(10,13)-1(3,11,14) -4
o ILRE
BB 9 460M4 JA R 2-9 3,680 % 3E 1-5 7,880 3EE 2-6-9 6,710
B B 9 170H 6-9 330M4 5 E 2-9 13,440MH 3EH 9-2-6 56,590M
2 7108 2-6 1,140M =51 9-2 18,550/
6 110

ABIC OV TRUTEREERRODDZE. THRIIZEL.



